NZNZ7ZEN (5) 28

[1] ( ) OHFOEATE LRIV,

(1) 1780m (km) =&, 1780x0.001=1.78 % 1m=0.001km &4 1.78km
(2) 0.29km (m) . 0.29 X 1000=290 % 1km=1000m &% 290m
(8)8.2cm (m) 7, 8.2X0.01=0.082 % 1em=0.01m Z % 0.082m
(4)1180mm (m) & 1180X0.001=1.18 % Imm=0.00lm 2% 1.18m

(5) 36.2kg (g) A 36.2X1000=36200 % 1kg=1000g %z 36200g
6) 813g (kg) .  813gx0.001=0.813 % 1g=0.001kg %% 0.813kg
(7 2.7¢ (mg) & 2.7X1000=2700 % 1g=1000mg &% 2700mg
(8) 20mg (g) 2 20X0.001=0.02 % 1mg=0.001g &% 0.02g

) 2.8t (kg) A 2.8X1000=2800 % 1t=1000kg &% 2800kg
(10) 365kg (t) A 365x0.001=0.365 % 1kg=0.001t &% 0.365t
(11) 2.6km2 (m2) . 2.6X1000000=2600000 3 tkm=1000000m: ZLX  2600000m2
(12) 720a (ha) A 720%X0.01=7.2 % 1a=0.01ha K% 7.2ha

(13) 3400m2 (a) = 3400Xx0.01=34 % 1m2=0.01a K2 34a

(14) 8.1km2 (ha) X 8.1xX100=810 % 1km2=100ha % 810ha
(15)6.7L (mL) A, 6.7X1000=6700 % 10=1000mL &% 6700mL
(16) 26dL (mL) 7, 26X 100=2600 % 1dL=100mL 2% 2600mlL
(17) 480L (kL) 2, 480X%0.001=0.48 3% 11,20.001kL 2% 0.48KL
(18) 52 cm3 (L) . 52X0.001=0.052 % 1em=0.001L & X 0.052L
(19)4.9L (cm3) . 4.9X1000=4900 % 1L=1000em? & A 4900cm3
(20) 851cm3 (m3) X 851x0.000001=0.000851 3 1em=0.000001m* Z£Z  0.000851m3
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